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Sample Paper – 2009
Class – X

Subject – Mathematics

Time allowed: 3 hours                                                Maximum Marks: 80

General Instructions:

(i) All questions are compulsory.

(ii) The question paper consists of 30 questions divided into four sections: A, B,C and D. Section A contains 10 questions of 1 mark each. Section B is of 5 questions of 2 marks each, Section C is of 10 questions of 3 marks each and Section D is of 5 questions of 6 marks each.
(iii) There is no overall choice. However, an internal choice has been provided in one question of two marks each, two questions of three marks each and two questions of six marks each.

(iv) In question on construction, the drawing should be neat and exactly as per the given measurements.

(v) Use of calculators is not permitted.
SECTION A
(1 marks Questions)
1. The system of linear equations: 2x+3y=6; 4x + 6y =7 has;

a. Unique solution  b. many solutions  c. no solution

2. If the roots of the quadratic equation px2 + 4x – 6 = 0 are equal, then the value of p is: a. 1 b. 2 c. 3. d. 4

3. The common difference of an A.P. is 4 then the value of t60-t55 is:

a. 2  b. 20 c. 4 d. 24

4. The volume of a sphere is 36 ( cm3, its surface area is:

5. a. 36 ( cm2   b. 46 ( cm2  c. . 60 ( cm2   d. . 30 ( cm2   
6. The value of tan 10 tan 20 tan 30 tan 450 tan 890 tan 880 tan 870 is:

a. 1  b. 2 c. 4  d. 5

7. The coordinates of the centroid of a triangle, whose vertices are (1,7), (3,5), (5,9) are:

a. (1,6) b. (3,7) c. (4,5) d. (3,3)

8. If (x-a) is the factor of the polynomial P(x) = x3 – ax2+ 5x -10, then the value of “a” is: a. 1  b. 2  c. -3 d. 4
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From a point P, tangent PQ has drawn to a circle of radius 5 cm. If O is the centre of circle and OP=13 cm. Then the length of PQ is: 

a. 12cm b. 14cm. c. 11cm  d. 17 cm
     10. In the adjacent figure AD is the bisector of angle A,

           If AB= 12 cm , AC= 16cm, BD=4cm, then CD=?

                 a. 6 cm b. 4cm  c. 4.5 cm d. none of these

SECTION-B
                                                                   (2 marks Questions)
      11. CD and GH are the medians of two similar triangles ΔABC and ΔEFG .Prove that:
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12. Solve the equation:   abx2 + (b2-ac)x – bc = 0
13. Using Euclid’s division algorithm, find the HCF of 192 and 38420.
14. The nth term of an AP is given by tn=4-3n. Find the sum of the first 15 terms of this AP.

OR

   The 5th term of an AP is 24 and its 15th term is 74. Find the sum of its first 10 terms.

15. A rectangular sheet of paper 44cm x 18 cm is rolled along its length and a cylinder is formed    

      Find the volume of the cylinder.

SECTION-C
                                                          (3 marks Questions)
16. Draw a circle of radius 2.5cm. Draw tangents to the circle from a point P which is 6 cm away    

      from the centre of the circle.
17. If  
[image: image2.wmf]cossin2cos

qqq

+=

, prove that 
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OR

Evaluate:
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18. A well 14 m deep is 2 m in radius. Find the cost of cementing the inner curved  

    surface of the  well at the rate of Rs.2 per square metre. (Use 
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OR

A vessel is in the form of a hemispherical bowl mounted by a hollow cylinder. The diameter of the sphere is 14 cm and the total height of the vessel is 13 cm. Find the capacity of the vessel. (Use 
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19. The co-ordinates of  two points P and Q are 
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 respectively and of a  

      point S is (a,0). Show that 
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20. Find the ratio in which the point (-3,p) divides the line segment joining the points (-5,-4) and   

      (-2,3). Also find the value of p.

21. A bag contains 7 red balls, 8 white balls, 9 green balls and 3 blue balls. One ball is drawn    

             at random. Find the probability that the ball is:

(i) white

(ii) red or green

(iii) [image: image10.png] not green

(iv) red or white
22. If (x-3) is a factor of 2x2 +ax +b and a+b=2, find the values of a and b.
23. Find the area of the shaded region, in the figure given below, if the   

        length of the rectangle is  4 cm and breadth is 3 cm.
24. Solve graphically:



   2x +3 y = 4


         and  x- y+3=0

      Find the area of the triangle formed by these lines and the x-axis. 
25. A man rowing at the rate of 5 km/hr in still water takes thrice as much time in rowing    

     40 km up the river as in 40 km down . Find the rate at which the river flows.
SECTION –D
(6 marks Questions)
   26. .Prove that in a right-angled triangle the square on hypotenuse is equal to the sum of the   

            squares on the other two sides.Using the above, prove the following:
        BL and CM are the medians of a right-angled triangle, right angled at A. Prove that :
4(BL2 + CM2) = 5BC2  

27. A right-angled triangle ΔABC of sides AB = 15 cm and BC = 8 cm is revolved about the  

      hypotenuse AC. Find the volume of the double cone so formed.

OR

     A metallic toy is in the shape of a hemisphere of radius 3.5 cm mounted over a cylinder of  

     height 3 cm. It is melted to form a cone of height 4 cm. Find the radius of the cone.

28.A person standing on the bank of a river observes that the angle of elevation of the top  

     of a tree standing  on the opposite bank is 60o. When he moves 40 m away from the  

     bank, he finds the angle of elevation to be  30o. Find the height of the tree and the  

     width of the river.

OR

       The angle of elevation of a jet plane from a point A on the ground is 60o.After flight   

      of 15 seconds, the angle of elevation changes to 30o. If the jet is flying at a constant  

      height of 1500√3 m. find the speed of the jet plane.
29. The mean of the following frequency distribution is 26.5. If the total number of    

             observations is 100, find the frequencies f1 and f2.

	Classes
	0-10
	11-20
	21-30
	31-40
	41-50

	Frequency
	f1
	14
	21
	f2
	22


30. AB is a line segment and M is its middle point. On one side of AB, semi-circles have been   

      drawn by taking AM, MB and AB as diameters. A circle has been drawn which touches each    

      of the three semi-circles. Prove that the radius of the circle = 1/6 AB.
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